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Speed = at
Speed = (1 m/s2)(10 s)
Speed = 10 m/s

8 + 8 + 8 = 24 m (distance)

displacement = 8 m

What is the magnitude of 
the acceleration?

a = 8m/s / 3 s = 2.7 m/s2

oops, no question
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  3 m / s
1.5 m / s

2s
1s

a = 3 m/s / 2 s = 1.5 m/s2
a = 1.5 m/s / 1 s = 1.5 m/s2
a = 4.5 m/s / 3 s = 1.5 m/s2

d = Vit + 1/2at2
d = 15(12) + (.5)(.5)(122)
d = 216 m

Vi = 15 m/s

Vf = 21 m/s

t = 12 s

d = ?a = v / t

V = d / t

Vf = Vi + a t

Vf
2 = Vi

2 + 2 a d

 

d = V t

d = Vi t + 1/2 a t2
a = (Vf ­ Vi) / t

Vi = 0 m/s

a = 4.9 m/s2

d = 200 m

Vf = ?

Vf
2 = Vi

2+ 2ad
Vf

2 = 0 +2 (4.9 m/s2)(200 m)
Vf

2 = 1960 =    1960 = 44.27 m/s 

Vi = 16 m/s

Vf = 20 m/s

d = 36 m
a = ?

Vf
2 = Vi

2 + 2 a d 

Vf
2 ­ Vi

2 = 2ad

a = Vf
2 ­ Vi

2 / 2d

a = (20)2 ­(16)2 / 2(36)

a = 400 ­ 256 / 72

a = 2 m/s/s

V = d / t

Vf = Vi + a t

Vf
2 = Vi

2 + 2 a d

 

d = V t

d = Vi t + 1/2 a t2
a = (Vf ­ Vi) / t
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Vf = Vi + a t

Vf = .5 m/s + (10 m/s/s)(0.7 s)

Vf = 7.5 m/s

a = g = ~10 m/s/s

a = g = ~10 m/s/s

Vi = 0.5 m/s

a = ~10 m/s/s

t = 0.7 s

Vf =
d = Vit + 1/2at2
d = 0 +.5(10)(32)
d = 45 m

Vi = 0 m/s

a = ~10 m/s/s

t = 3 s

d=

V = d / t

Vf = Vi + a t

Vf
2 = Vi

2 + 2 a d

 

d = V t

d = Vi t + 1/2 a t2
a = (Vf ­ Vi) / t

Vi = 0m/s

a = ~10 m/s/s

t = 3.1 s

d =

d = Vit + 1/2at2
d = 0 + .5(10)(3.12)
d = 48.05 m

Vi = 0m/s

a = ~10 m/s/s

d = 40 m

t =

d = Vi t + 1/2 a t2

40 = 0 + .5 (10)t2

t2 = 40 / 5 = 8

√t2 = √8 = 2.8 s

a = g = ~10 m/s/s
a = g = ~10 m/s/s

V = d / t

Vf = Vi + a t

Vf
2 = Vi

2 + 2 a d

 

d = V t

d = Vi t + 1/2 a t2
a = (Vf ­ Vi) / t
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Vi = 0m/s

a = ~10 m/s/s

Vf = 39.2 m/s

d =
a = g = ~10 m/s/s

Vf
2 = Vi

2+ 2ad
Vf

2 ­ Vi
2  = 2ad

d = Vf
2 ­ Vi

2  / 2a 
d = 1536.64 / 20
d = 76.83 m

V = d / t

Vf = Vi + a t

Vf
2 = Vi

2 + 2 a d

 

d = V t

d = Vi t + 1/2 a t2
a = (Vf ­ Vi) / t
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